
A
u

sg
a

b
e

:

  1 / 5 



 2 / 5

Service  . Assistenza  . dienstverlening .Serwis
H

Name  . Nom . Nome . Naam
Nazwa . Jméno . názov .
Név
Denumire . lsim . Haz aH e

Nr . No. .N° . Homep . C . 
Sz

Typ . Type . Tip . Tipus . 
Tipo Metal bed

E

E

A

B

B

A

F

F
G

H

M8*20

I

4pcs

J L N

M8*45
8pcs

M6*30
2pcs

M4
1pc

Parts List

id12-
Schreibmaschine
RAFAEL



STEP 1

3 / 5

*4pcs(M8*20)

B*2pcs

E*2pcs

A*2pcs

B

AE

BE

A

I

J*8pcs(M8*45)

F*2pcs

F

F

J

STEP 2



 4 / 5

L*2pcs(M6*30)

G*1pc

G
L

H*14pcs

H

STEP 3

STEP 4



5 / 5




